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Lecture 18:
Closing the bank I

By now we have dealt with troubled banks and discussed ways to avoid that
trouble ever arises. Unfortunately, trouble may arise anyway, perhaps due to misma-
nagement, perhaps not, and the question is what should be done when this happens.

Chapter 17 deals with these problems, and in several steps, taking into account
that banks may be closed or reorganized either by themselves, that is by the sharehol-
ders, or by other institutions, basically those which we have already seen. The first
line of regulation would be the owners of the bank, and Section 17.2 deals with this si-
tuation using the Dewatripont-Tirole model. Basically this is an example of academic
recycling — the model deals more with manager incentives than with banking theory,
but nevertheless it touches upon a crucial detail, namely the problem of signals and
how to act on them. We assume (reasonably enough) that the day-to-day business of
a bank is conducted not by its owners (shareholders) but by a manager, and if there
is a sign of troubles, then it might be appropriate to sack the manager and reorganize
the bank.

But how can the shareholders know whether the bank is just experiencing some
short-term difficulties or whether it is in really bad shape? In the model, there are two
signals which can be used: one of them, v reports on previous results, whereas the
other one, u, is a signal about future results. Economists know that past performance is
irrelevant for future payoffs, so one should expect that only u matters, and indeed this
is what the owners would have done if they were in charge themselves, there would
be a break-even value il of the signal so that the bank would be closed/reorganized if u
is below this value, and continued if above. You may safely skip the derivation of this
result on p.329, unless you should find integration by parts intellectually stimulating,
anyway the result so far is pretty obvious.

However, the presence of a manager and the use of an incentive scheme for this
manager blurs the issue quite a lot. The incentive scheme for the manager is a bonus
which will be lost when she is fired. The owners have only the option of sacking the
manager (reorganizing) or keeping her. This action is formulated as a probability of
keeping the manager given the signals # and v — one should not be frightened by this,
it is basically a simple way of formulating the decision rule, and the optimal decision
is always either 0 or 1, there is no need for a probabilistic decision.

Now the optimal decision rule is the one which maximizes expected profits given
that the manager should prefer to use maximal effort in running the bank. This



Economics of Banking 20241 Lecture 18, page 2

maximization problem looks formidable, but it turns out to have a rather simple
solution (it is linear in the decision variable, so this decision is either as large (1) or
as small (0) as possible). Assuming that the signals are influenced in the right way
by management effort, one gets the result that the optimal decision depends on both
u and v (contrary to orthodox economic thinking), and that there are cases where u
is below the threshold but the bank is allowed to carry on since v is large, indicating
that the manager does a fine job and may be able to turn the not so bright prospects
into a reasonable business.

The next model considered is the Repullo model, which considers the question of
who should be given the authority to decide whether a bank should be assisted or
closed. The model is very simple, so there should be no problems in following the
formalism. Notice that we have again two signals v og u, with the difference that v
is observable to all relevant parties (here it is the liquidity need of the bank) whereas
u is of more subjective nature (so that one cannot make an automatic rule which
takes action given some value of u). Since u is relevant, one has to decide which
institution should take action upon observing u. Thus, the model deals with placing
the authority to close the bank.

The main message of the model is that the central bank and the deposit insurer
will have different viewpoints on whether a bank should be closed or allowed to go
on. What matters here is the cost to the institution of either supporting the bank (in
particular for the central bank which will be subject to some risk). As a consequence,
the way in which they would regulate is not the same, and it may be better for society
to delegate the competence to one of the two in a way that depends on signals received
rather than once and for all. The particular perspective which makes it interesting is
that one has to use a signal which is observable and contractable (here v) in the sense
that it can be use for legally binding decisions, whereas the signals that really matter
may not have the latter property.

Section 17.4 with the simple model due Mailath and Mester illustrates the point
that it may not be so easy to close a bank even when it objectively acts in a way which
makes it possible for the relevant authority (here the central bank) to step in — it may
be cheaper for the authority to let it go on than closing it down right away. The model
uses a simple extensive form game over two periods where the bank chooses either
a safe or a risky investment (if it has not been closed after the first choice), and the
regulator has the option of closing the bank after its first choice. Banks prefer risky
investments to safe investments but cannot always get away with it.

Once payoffs have been assigned to terminal nodes of the tree, the rest is a simple
check of equilibria. It is seen that there are only few cases (depending on parameter
value) where the bank will actually be closed down. In all the other cases the bank
is allowed to proceed, since this is the cheaper option for the regulator having to
reimburse depositors and to pay the liquidation cost. It gives an explanation of
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a reluctance to take action against banks with an overly risky investment policy,
something which has been observed in many cases.
We leave the rest of the chapter to next week.

We read: Chapter 17 sections 1-4.



